| ERYEERLI-T 57

@ ®
@ ©)
@ @
® ®
® ®
) @
® ®
®
© ®
120 100 80 60 40 20 0
VIEES- v IBEEBRLIET 52
@ @
@ @
@ @
® ®
® ®
@ @
® ®
s ©®
@ N0
180 160 140 120 100 80 60 40 20 0
| BEBRTOEEDT 57
@ ©)
@ @
@ @
® ®
® ®
@ @
® ®
®
©) ®
100 90 80 70 60 50 40 30 20 10 0

EFA B ft L] L—R [HE |HE{E
=L 1A118[24F 8= 1@ 10
EL 1A118[24F 8= 1|® 10
WA K 1A11B|24F 8= 1|® 69.4
bWl 1A11 8|24 8= 1@ 91.11
WA —p 1A11B|24F#= 11® 90.89
s Hi 1R824 8= 11® 69.89
FE EmY 1A11B|24F 8= 1@ 87.14
RO 5+ 1A11B|24F 8= 1@ 105
N 1A11B|24F 8= 1D 96.45
EFA B ft E: ] L—R [HE |HE({E
L 1A11B|24F 8= 1.1|® 10
L 1A118|24F 8= 1.1 10
WA K 1A11B|24F8= 1.1|® 83.97
bWl 1A11 8|24 8= 1.1|1@ 101.11
WA —p 1A11B|24F 8= 1.1(® 166.09
W S 1A118[24F#H= 1.1|® 99.41
FE Y 1A11B|24F 8= 1.1|@ 95.14
RO 5+ 1A11B|24F#= 1.1|@D 121.2
N 1A11B|24F 8= 1.1(D 164.05
EFA B ft E: ] L—R |E& |BEER
L 1A11B|24F8= 1.2|@ 10
L 1A11B|24F 8= 1.2|® 10
WA K 1A11B|24F 8= 1.2|® 72.973333
ba-Walli| 1A11 8|24 8= 1.2|@ 84.11
WA —RK 1A118[24F 8= 1.2|® 84.09
W S 1A118[24F#H= 1.2|® 78.41
FE Y 1A11B|24F 8= 1.2|@ 86.14
RO S5+ 1A11B|24F 8= 1.2|@ 88.2
N 1A11B[24F 8= 1.2|®D 88.05




BEH B ft B L—R |HE |HHEE | IERYEERL-SF57

=L 1A118[24F 8= 2|® 10 @ B
EL 1A118[24F 8= 2 10 @ @
B BE 18112458 2|@ 77.7 ® ®
g EE 1A118|2458E 2|@ 106.69 ® ® 2
BRE 1A118 |24 8E 2|® 101.37 @ ;
S B 1118|2458 = 2|® 69.25 @ o)
N B 18118 |24 8% 2|® 90.44 o
%%\. 1§_ 1H 11 E 245‘2%{"%—‘ 2 @ 94.67 120 100 80 60 40 20 @ 0 :
Ba Ba 1A118|24F#H= 2| 93.14

BEH B ft B L—R [HE |HE({E VBB -RVIBEERLI-TS5T

7EL 1A118[24F 8= 21|@ 10 D o
=L 18118 (2458 E 2.1 10 @ @
B R 1811 A[24F8= 2.1|@ 87.7 ® ®
er = 1B118 2458 E 21|@ 170.25 ® ® ?
BRE 1A11H|24F8= 2.1|3 171.57 0 ®
S B 18118 |24FH=E 21|® 87.77 ) @
h B 1A118 245 8= 2.1|® 115.44 = ?
%%\. 1§_ 1H 1 E 245‘.-‘:%';%-‘ 21 @ 155.53 200 180 160 140 120 100 80 60 40 20 0
e Ba 1A11B|24F#= 21D 171.24

BEH B ft B L—R [HE H%*FR/R | BEBREDEENT 57

L 1A11H|24F8E 2.2|©@ 10 D o
izl 1R 11H|24F8E 22 10 @ @
BB kR 1A118[24F 8= 22|@ 80.7 6
R ES 181182458 22|@ 89.25 @ ® ;
ZR & 1A118|24F#H= 22|® 91.57 @ o
SH i 1A118 |24 8E 2.2|® 78.77 @ ®
Eh R 18118 | 2458 22| 89.44 é)
%%\. 15_ 1H 11 E 24$%ﬂ'§ 2.2 @ 80.53 100 90 80 70 60 50 40 30 20 10 0
e Ba 1A118|24F#H = 22| 84.24




| ERYEZERLI-T 57

@ @
@ ®
® ®
3 ®
@ @
@ @
@ @
®
@ e O
140 120 100 80 60 40 20 0
VIBER- v o REERALEY ST
@ @
® ®
® ®
®
@ ©)
@ @
@ @
- ®
@ - O
300 250 200 150 100 50 0
| BEBREDEEDNT S
@ ©)
® ®
® ®
® ®
@ @
) @
@ @

100

90

80

50

20

©

o

EFA B ft L] L—R [HE |HE{E
=L 1A118[24F 8= 3|® 10
EL 1A118[24F 8= 3|® 10
=k E— 1A11B|24F 8= 3@ 76.8
ER &E 1A11 8|24 8= 3@ 105.42
AT A1 1A11B|24F#= 3@ 114.43
HF #A 1A118|24F 8= 3® 89.37
L RS 1A11B|24F 8= 3|® 82.93
BIR = 1A11B|24F 8= 3|® 80.46
B 8t 1A11B|24F 8= 3| 90.76
EFA B ft E: ] L—R [HE |HE({E
L 1A11B|24F 8= 3.1|® 10
7L 1A118|24F 8= 3.1 10
Sk E— 1A11B|24F8= 3.1|@ 79.8
ER&®E 1R11 8|24 8= 31|@ 140.62
HH his 1A11B|24F 8= 3.1|@ 280.03
HF #A 1A11B|24F 8= 3.1|® 102.37
L & 1A11B|24F 8= 3.1|® 109.73
B SiE 1A11B|24F#= 3.1|® 78.66
B 8t 1A11B|24F#= 31D 140.56
EFA B ft E: ] L—R |E& |BEER
7L 1A11B|24F8= 32|® 10
L 1A11B|24F 8= 32 10
Sk E— 1A11B|24F 8= 32|@ 79.8
ER&®E 1A11B|24F 8= 32|@ 88.62
HH this 1A11B|24F 8= 32|@ 93.03
HF HA 1A11B|24F 8= 32|® 82.37
L & 1A11B|24F 8= 32|® 81.73
BIR = 1A11B|24F 8= 32|® 77.66
B 8t 1A11B[24F 8= 32|D 84.56




| ERYEERLI-T 57

120

@

®

100

80

60

40

20

GO e e e O e

©

VIEES- Ny IBEERLLT ST

®

50

N

| BERRTOFEDNI ST

100

®
)

@
@

90

®

@

®

80

70

60

50

40

30

20

©®

EFA Bt L] L—R [HE |HE{E
=L 1A118[24F 8= 4@ 10
EL 1A118[24F 8= 4|® 10
B FH 1118|2458 = 1[©) 72.77
HE F/E 1A118|24F#H= 4@ 1102
LESial PN 1A118|24F#H= 4@ 83.86
MR Bz 1A118[24F#H= 4@ 90.12
EAREHA 1A118|24F#H= 4® 73.94
=ik ERX 1A11B|24F 8= 4@ 106.44
W0 %A 1A11B|24F 8= 4|® 102.17
EFA Bt E: ] L—R [HE |HE({E
7EL 1A118[24F 8= 41|@ 10
EL 1A118[24F 8= 4.1 10
B F 1A11 |24 8= 41|® 97.29
i o T 1A11B|24F 8= 41|@ 192.66
e MR 1A11B|24F 8= 41|@ 101.66
MR Bz 1A118[24F#H= 41|@ 113.12
EAREHA 1A11B|24F 8= 41|® 90.04
=iE R 1A11B|24F 8= 41| 158.04
W0 %6 1A11 8|24 8= 41|G) 188.17
EFA Bt E: ] L—R |E& |BEER
=L 1A118[24F 8= 42|®@ 10
EL 1A118[24F 8= 4.2 10
B F 1A11B|24F 8= 42|® 81.29
HE F/E 1A11B|24F 8= 42|@ 87.66
e MR 18118 |24FH= 42|@ 81.66
MR Bz 1A118[24F#H= 42|@ 88.12
EAREHA 1A11 8|24 8= 42|® 79.04
=iE X 1R11 8|24 8= 42| 91.04
W0 %6 1R11 |24 8= 42|G) 91.17




| ERYEERLI-T 57

® ®
®
O] @
@ @
@ @
® ®
@ @
®
©) e— O
140 120 100 80 60 40 20 0
MBS - R IBEERLETS5D
® ®
©) ®
®
@ ®
@ @
® ®
@
e
@ O
250 200 150 100 50 0
| BEBREDEEDT ST
® ®
©) ®
@ ®
@ ®
@ ®
® ®
@ ®
®
© ®

120

100

60

20

o

EFA B ft L] L—R [HE |HE{E
=L 1A118[24F 8= 5@ 10
EL 1A118[24F 8= 5|® 10
INEF R 1A11B|24F 8= 5@ 96.82
BER BEX 1A11B|24F 8= 5|® 111.27
[FH =X 1A11B|24F#= 5@ 115.22
P g 1A11B|24F 8= 5D 97.32
FiE BRE 1A11B|24F 8= 5@ 96.04
MNEB R 1A11B|24F 8= 5@ 100.53
A A 1A11B|24F 8= 5 109.56
EFA B ft E: ] L—R [HE |HE({E
L 1A11B|24F 8= 5.1|@ 10
7L 1A118|24F 8= 5.1 10
INEF R 1A11B|24F8= 51|@ 132.31
BER BEX 1A11B|24F 8= 51|® 189.47
[FH =X 1A11B|24F 8= 51|@ 229.41
P g 1A11B|24F 8= 51| 122.99
FiE BRE 1A11B|24F 8= 51|@ 111.35
MNEB R 1A11B|24F 8= 51|13 99.59
A A 1A11B|24F#= 5.1|® 166.22
EFA B ft E: ] L—R |E& |BEER
7L 1A11B|24F8= 5.2|@ 10
L 1A11B|24F 8= 5.2 10
INEF R 1A11B|24F 8= 5.2|@ 92.311724
BER BEX 1A11B|24F 8= 5.2|® 94.47
[FH =X 1A118[24F 8= 52|@ 95.413846
P g 1A11B|24F 8= 52| 91.987097
FiE ERE 1A11B|24F 8= 5.2|@ 93.35
NEB R 1A11B|24F 8= 5.2|3 91.585938
A A 1A11B[24F 8= 5.2|® 94.215938




| ERYEZERLI-T 57

EFA B ft L] L—R [HE |HE{E
=L 1A118[24F 8= 6|®@ 10
EL 1A118[24F 8= 6|® 10
[EE s 1A11 8|24 8= 6/® 925
EaK & 1A11B|24F 8= 6|® 122.48
HEE BEZ 1A11B|24F#= 6|® 91.65
B &z 1A11B|24F 8= 6|@ 104.76
FBWE 1A11B|24F 8= 6|@ 108.53
W B2 1A11B|24F 8= 6| 110.81
EAR N 1A11 |24 8= 6|@D 110.36
EFA B ft E: ] L—R [HE |HE({E
L 1A11B|24F 8= 6.11@ 10
L 1A118|24F 8= 6.1 10
[EE s 1A11 |24 8= 6.1|® 112.42
EaX i 1A11B|24F 8= 6.1@ 273.62
HEE BEZ 1A118[24F 8= 6.11® 150.75
B EZ 1A118[24F#H= 6.1|@ 116.76
FBWE 1A11B|24F 8= 6.11@ 230.73
W & 1A11B|24F#= 6.1|D 156.62
EAR H#N 1A11 8|24 8= 6.1|@ 157.46
EFA B ft E: ] L—R |E& |BEER
L 1A11B|24F8= 6.2|® 10
L 1A11B|24F 8= 6.2 10
[EE s 1A11B|24F 8= 6.2|® 95.423077
- 1A11B|24F 8= 6.2|3 99.62
HEE BEZ 1A118[24F 8= 6.2|® 91.75
B EZ 1A118[24F#HE= 6.2|@ 97.76
FBWE 1A11B|24F 8= 6.2|@ 94.73
W A 1A11B|24F 8= 6.2|D 101.62
EAR H#N 1A11 8|24 8= 6.2|@ 105.46

@ @
@ ©)
@ ®
@ @
® ®
©) ®
® ®
®
@ O
140 120 100 80 60 40 20 0
VERH- v IBEERLETSD
@ ©)
@ @
@) ©)
@
®
® ®
®
- ®
@ - O
300 250 200 150 100 50 0
| REBREZDEEDT ST
@ @
@ @
@) @
() @
® ®
® ®
® ®
®
© ©®
120 100 80 60 40 20 0




| ERYEZERLI-T 57

120

100

80

60

20

o

S0 66
Qe e

© @
© @

VIEEE- Ny IBEERLLET ST

@

180

160

140

SIS

120

100

80

40

| BERRTOFEDNI ST

EFA B ft L] L—R [HE |HE{E
=L 1A118[24F 8= 711® 10
EL 1A118[24F 8= 71® 10
ARk B 1A11B|24F 8= 11® 88.77
ERKR AT 1A11B|24F 8= 1® 102.25
BX 8 1A11B|24F#= 1@ 107.4
ER®ESZ 1A11H|24F8= 11D 105.42
il Eth 1A11 8|24 8= 71D 100.75
LM ER 1A11B|24F 8= 11® 108.79
1ERY #t 1A11 |24 8= 711@ 108.1
EFA B ft E: ] L—R [HE |HE({E
L 1A11B|24F 8= 7.1|® 10
L 1A118|24F 8= 7.1 10
ARk B 1A11B|24F 8= 7.1|® 151.07
e | 1A11B|24F 8= 7.1|® 121.25
BX B 1A11B|24F 8= 7.1|@ 129.5
TR %% 1A11B|24F 8= Al 130.42
il Eth 1A11 8|24 8= 7.1|® 120.05
LM ER 1A11B|24F#= 7.1|® 109.79
RS et 1A11 8|24 8= 71|@ 185
EFA B ft E: ] L—R |E& |BEER
L 1A11B|24F8= 7.2|® 10
L 1A11B|24F 8= 7.2 10
ARk B 1A11B|24F 8= 7.2|® 81.07
ERK AT 1A11B|24F 8= 7.2|d 95.25
BX 8 1A11B|24F 8= 7.2|@ 101.5
R %R 1A11H|24F8E 7.2|@ 98.42
il 5t 1A11 8|24 8= 72| 97.05
LM ER 1A11B|24F 8= 12|® 101.79
RS et 1R11 |24 8= 7.2|@ 103

120

®

@
@

@

100

®

80

40

o




| ERYEZERLI-T 57

@ @
@ ®
®
® ®
@ ®
® ®
® ®
®
©) ©)
120 100 80 60 40 20 0
MBS - R IBEERLETS5D
@ @
@ @
@ @
® ®
@) @
® ®
® ®
— ©
@ e O
250 200 150 100 50 0
| BEBREDEEDT ST
@ @
@ ®
@ @
® ®
@ ®
® ®
® ®
®
© ®
120 100 80 60 40 20 0

EFA B ft L] L—R [HE |HE{E
=L 1A118[24F 8= 8|® 10
EL 1A118[24F 8= 8|® 10
ISF S 1A11B|24F 8= 8|® 107.78
BERE T 1A11B|24F 8= 8|® 100.41
5% &R 1A11B|24F 8= 8@ 105.94
A EE 1A118|24F 8= 8|® 96.24
&k 0= 1A11B|24F 8= 8|@ 104.68
PRERIpES 1A11B|24F 8= 8| 110.32
HE 8 1A11B|24F 8= 8@ 109.74
EFA B ft E: ] L—R [HE |HE({E
L 1A11B|24F 8= 8.1/ 10
L 1A118|24F 8= 8.1 10
IS 7 1A11B|24F 8= 8.1|® 129.38
BB T 1A11B|24F 8= 8.1|® 194.41
5% &R 1A11 |24 8= 8.1|@ 117.94
A EE 1A118[24F#H= 8.1|® 166.11
&k 0= 1A11B|24F 8= 8.1|@ 163.68
ST R 1A11B|24F#= 8.1|D 132.52
HE 8 1A11B|24F#= 8.1|@ 175.14
EFA B ft E: ] L—R |E& |BEER
L 1A11B|24F8= 82|® 10
L 1A11B|24F 8= 8.2 10
IS H 1A118[24FH= 82|® 99.38
RS T 1A118[24F 8= 82|® 96.41
5% &R 1A11 |24 8= 82|@ 98.94
A EE 1A11B|24F 8= 8.2|® 93.106667
£ 1A118[24F 8= 82|@ 98.68
ST R 1A11B|24F 8= 82|®D 100.52
HE F1 1A11B[24F 8= 82|@ 101.14




| MERYEERLIT 52

@O

@

140 120 100 80 60

40

20

o

O e e o

Q
)

.
© ®

VIEES- "y IBEERLILT ST

@

250 200 150 100

50

o I

@Q (& ISES @ (& )
SECNONCRONGNG)

@ ®
© ®

| BERRTOFEDNT S

120 100 80 60

40

20

o

(0 = @ ® O O I =

)
©

EFA B ft L] L—R [HE |HE{E
=L 1A118[24F 8= 9@ 10
EL 1A118[24F 8= 9|® 10
He BEE 1A11B|24F 8= 9@ 117.29
2B EE 1A11 8|24 8= 9[® 105.42
hik HE 1A11B|24F#= 9@ 110.73
ERR BR 1A11B|24F 8= 9|@ 97.2
NE XFH 1A11B|24F 8= 9® 94.27
FEAT 579 1A11B|24F 8= 9|® 107.46
YN 1A11B|24F 8= 9D 107.5
EFA B ft E: ] L—R [HE |HE({E
L 1A11B|24F 8= 9.1@ 10
L 1A118|24F 8= 9.1 10
e BEE 1A11B|24F8= 9.1|@ 132.29
2B EE 1R11 8|24 8= 9.1|® 157.82
hik HE 1A11B|24F 8= 9.1|@ 219.35
ERR BR 1A11B|24F 8= 9.1|@ 106.5
NE XFH 1A11B|24F 8= 9.1|® 142.75
FEAT 574 1A11B|24F#= 9.1|® 126.46
/N BT 1A11B|24F#= 9.1|®D 179.4
EFA B ft E: ] L—R |E& |BEER
L 1A11B|24F8= 9.2|® 10
L 1A11B|24F 8= 9.2 10
e BEE 1A11B|24F 8= 9.2|@ 103.29
2B EE 1A11 8|24 8= 9.2|® 99.82
hik HE 1A11B|24F 8= 9.2|@ 96.35
ERR BR 1A11B|24F 8= 92|@ 95.5
NE XFH 1A11B|24F 8= 9.2|® 91.747778
a4 574 1A11B|24F 8= 9.2|® 100.46
/N BT 1A11B[24F 8= 9.2 101.4




| ERYEZERLI-T 57

140

120

PP .
CEORCHCRSONONCNG)

©

VIEEE- Ny IBEERLLET ST

300

50

N T,
[CRONONORSNCNCNC)

(@)
©

| BERRTOFEDT ST

120

@
®

@

®

@

@

100

®

80

60

40

20

PP .
CEONCECRSONONCNG)

©

EFA B ft L] L—R [HE |HE{E
=L 1A118[24F 8= 10|@ 10
EL 1A118[24F 8= 10|® 10
BT &2 1A11B|24F 8= 10|® 95.01
oE B& 1A11H|24F8E 10(@ 99.38
=il 8 1A118|24F#H= 10(® 120
T FE 1118|2458 = 10|@ 119.16
ik 1340 18118 |24FH=E 10|@ 105.69
/MR X—ER 1A118[24F 8= 10| 103.55
15 EARR 1A118|24F#H= 10|® 96.33
EFA B ft E: ] L—R [HE |HE({E
L 1A118|24F#H= 10.1|® 10
L 1A118|24F#H = 10.1 10
BT &2 1A11B|24F8= 10.1|® 93.21
HE K& 1A11B|24F 8= 10.1|@ 116.68
=il 8 1A11B|24F 8= 10.1|® 141.6
o3& 1A11B|24F 8= 10.1|@ 257.06
thiE B2 1A11 8|24 8= 10.1|@ 134.2
/MR X—ER 1A118[24F 8= 10.1|®D 138.55
15 EARR 1A11B|24F 8= 10.1|& 113.33
EFA B ft E: ] L—R |E& |BEER
L 1A118|24F#H = 10.2|® 10
L 1A118|24F#H= 10.2 10
BT &2 1A11B|24F 8= 10.2|® 92.21
oE B& 1A11H|24F8E 10.2|@ 98.68
=il 1A11B|24F 8= 10.2|® 104.6
o3& 1A11B|24F 8= 10.2|@ 105.06
thiE B2 1A11 8|24 8= 10.2|@ 99.2
INE L—ER 1A11 8|24 8= 10.2|M 100.55
15 EARR 1A11B[24F 8= 10.2|® 94.33




| MERYEERLIT 52

140

120

o

© © O

Q®

@
@

@
@

.
© @

VIEES- Ny IBEERLLT ST

EFA Bt L] L—R [HE |HE{E
=L 1A118[24F 8= 11|1@® 10
EL 1A118[24F 8= 11|® 10
il g8 1118|2458 = 11|® 112.9
A ExE 1A118|24F#H= 1@ 111.28
s g+ 1A118[24F#H= 1@ 96.25
1Rk e 1A118[24F#H= 11|@ 118.82
e 1A118|24F#H= 1@ 107.5
Ell 1A11B|24F 8= 11|® 98.27
B3 #8Ek 1A118|24F#H= 1D 106.4
EFA Bt E: ] L—R [HE |HE({E
L 1A118|24F#H= 11.1|® 10
EL 1A118[24F 8= 11.1|® 10
il g8 1A11B|24F8= 11.1|& 114.9
R EiE 1R11 8|24 8= 11.1|® 172.88
AfE gL 1A11 |24 8= 11.1|@ 104.25
{ERE g = 1R11 8|24 8= 11.1|@ 153.68
EE A 1A11B|24F 8= 11.1|@ 191
EILE 1A118[24F = 11.1|® 167.84
ek 1A11 8|24 8= 11.1|® 160
EFA Bt E: ] L—R |E& |BEER
L 1A118|24F#H = 11.2|® 10
EL 1A118[24F 8= 11.2|® 10
il g8 1A11B|24F 8= 11.2|® 105.9
R EiE 1A11 8|24 8= 11.2|® 100.88
AfE gL 1A11B|24F 8= 11.2|@ 96.25
1hBE B 1R11 |24 8= 11.2|@ 104.68
e At 1A11B|24F 8= 11.2|@ 103
B Fh 1R11 8|24 8= 11.2|® 89.84
GEik ] 1A11 |24 8= 11.2|@D 98

() ®
®
@) @
®
@
®
®
- ®
- O
250 200 150 100 50 0
| BEBREDEEDT ST
@ ®
® ®
@ ®
@ ®
@ @
® ®
® ®

120

100

o

.
© ®




| ERYEERLI-T 57

®

EFA B ft L] L—R [HE |HE{E
=L 1A118[24F 8= 12|@ 10
EL 1A118[24F 8= 12|® 10
HE B 18118 |24FH=E 12|® 130.18
IR Jth 1A11B|24F 8= 12|@ 122.35
w1l $RER 18118 |24FH= 12|@ 125.81
BEO B— 1A118|24F 8= 12|® 116.93
Aix BE— 1A11B|24F 8= 12|® 116.67
A EE 1A118|24F#H= 12|@ 135.99
WiR EF 1A118|24F#H= 12| 115.09
EFA B ft E: ] L—R [HE |HE({E
L 1A118|24F#H= 12.1|®@ 10
L 1A118|24F#H = 12.1 10
HE B 1A11 |24 8= 12.1|® 202.84
IR Jth 1A11B|24F 8= 12.1|@ 210.35
w1l $RER 1A11 |24 8= 12.1|@ 189.41
BO B— 1R11 8|24 8= 12.1|® 186.13
A BE— 1A11 8|24 8= 121|® 193.67
AW EE 1A11B|24F#= 12.1|@ 206.79
WiR EF 1A11B|24F#H= 12.1|D 189.59
EFA B ft E: ] L—R |E& |BEER
L 1A118|24F#H = 12.2|® 10
L 1A118|24F#H= 12.2 10
HE B 1A11B|24F 8= 12.2|® 111.84
IR Jth 1A11B|24F 8= 12.2|@ 112.35
Ll $RER 1A11B|24F 8= 12.2|@ 110.41
B0 B— 1R11 |24 8= 12.2|® 111.13
A BE— 1A11 8|24 8= 12.2|® 107.67
AW EE 1A11B|24F 8= 12.2|@ 110.79
WiR EF 1A11B[24F 8= 12.2|D 108.59

@ @
® ®
® ®

@ ®
@ @
©) ®
s ©)
@ O]
160 140 120 100 80 60 40 20 0
LIRER- Ay REBRLEY ST
@ )
@ ®
® ®
® ®
@ ®
@ @
©) ®
- ®
@ [ O}
250 200 150 100 50 0
| BEBREDEEDT ST
@ o
@ ®
® ®
® ®
@ ®
@ @
©) ®
®
©) ®
120 100 80 60 40 20 0




